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X H D e fE 12. 00 | #H%f 1, 424 17, 088 1, 620 966 54
1T NAEL w5 4. 00 | FH%f 25 100 1, 944
H % o 3. 00| FHxf 114 342 1,674 1,512 1,188
5 A [ I 1. 00| AHt 130 130 864 719 432
ENIE so0l /A%t 4] 20| 3,240| 3,105| 2,700
HOX (r— 4. 00| AR} 9 36 1,512 1,272] 1,080
AN ™5 2. 00| FHxf 110 220| 1,188 978 540
= e RE A 4, 00| FH*} 76 304 756 578 486
[ I\ w5 5. 00| FH%f 605 3,025| 1,998| 1,533 918
~7 b~ | = 3. 00| FH*} 22 66| 1,836 1,807 1,728
R FoEk L 2. 00 [ FH %} 4 8| 3,672| 3,564| 3,456
H i (i 5. 00| FHxf 8 40| 1,944| 1,823 1,404
T e S 10. 00| AHxf 179 1,790 3,424| 3,342| 2,560
A—=T 4 AbiEiE 10. 00| AHxf 20 200 3, 564
B ¥ = 10. 00 | #H % 90 900| 2,700 2,160| 1,782
£ A AL E 20. 00 | #H 5%} 35 700| 2,808 2,651 2,268
& @ | 10.00[fE%t| e 600 | 3,024
LA A oOJ#E 10. 00 | #856f 140 1,400 3,564| 2,947 1,728
P=—LF R f& [l 4. 00| AH%F 454 1,816 1,944 1,609| 1,296
Tuyal— (r— 6. 00 | FH%f 196 1,176 2,484 2,240| 1,836
= | 6.00 FIxf| I 66| 2,502| 2,327| 1,404
AEMEE w5 0. 10| #Hxf | 4, 950 495 162 109 65
ZDXH E % 0. 20 | FHx} 900 180 70 55 22
LU E % 0. 20 | FH %} 150 30 59
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5 U H & 10. 00| FA % 38 380 4,860| 3,865 2,970
Yata—n HF & 10. 00 | #H%f 3 30| 4,860| 4,644 4,104
bHFEED & [ 0. 27| FHxf 3, 064 828 486 427 356
S X & 0.25| /8% | 6,911 1,731 486 345 270
BHDY S 5 0.25| FHxf | 4, 086 1,023 400 311 248




